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- "A2ag (M) 1,092,900 x 12 x 10%x 128 = 1,312
— CIR Y HH (55,2048 x 18 x 172)-1F (941,0008) = A2
- FEa¢ (HX) M (09)-715(2,218,0008) = 42,218




(751) L graeld £ : (101) A4 (

I

el o M
= ¢ & = | ES
=3 o
- ¥2+¢
27 (1,002,900% x 1% x 30% x 231 )-J| & (557,0008!) = 99
- gyuae+y
27 (55,2048 x 150%x 42 x 128)-| & (3,984, 0008 ) = N
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217 (198,380, 0002 x 11.5%)-71 3 (13,037,000% ) = 9,777
214
FHSN DA 1,019,289 566,409 452,880
417,845 194,965 222,880 |01 Z+ALII DM
O &4 A 2Y 222,880
— DI3nm  ZH (21,0008 x 6,8007)-71 % (39,900,0008) = 102,900
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— oxtag
Z & (63,3203 x 2% x 222 )-J| & (2,640,000& ) = 147
— =52 (HA) ZH(0F)-218(4,772,000&) = N4, TT2
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712
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— YEEIHY|
A (1,122,900 x 11 x 120%)-J1 & (12,638,000& ) = 2,185
— oxsg
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